i Chhattisgarh Board of Secondary
Education Model Paper 2021-22
greel geus —1
favT — A I (202 :
A — 3 e Subject — Chemistr(y ) T — 70
Time — 3 hours M.M. - 70
fcer : (1) o we Srfard |

Instructions : (1) All Questions are compulsory.

g9 :
Ques. :
g9 :
Ques. :
g9 :
Ques. :

YR :

Ques

g2
Ques.

YR :

(2) U . 1 ¥ 5 TP ANTAGIRIT U & | YAP W 1 3 AT & | Y Bl
IR 1 6] AT 1 I H IR |

(2) Question No. (1) to (5) are very short answer type questions. Each question
carries 1 mark. Answer should be given wordone or 1 sentence.

(3) U2 . 6 W 10 Th TP WX 2 3P Iefed g1 (I AHT 30 <)

(3) Question No. (6) to (10) carry 2 marks each. (word limit 30 words)

) T2 P 11 ¥ 22 TP IID U W 3 3P efed 21 (I AT 50 )

(4) Question No. (11) to (22) carry 3marks each. (word limit 50 words)

(5) Ue % 23 WX 4 3P Mdfed 2| (Isg HHT 70 )

(5) Question No. 23 carries 4 marks. (word limit 70 words)

(6) U2 P 24 T 26 TP YJD YT WX 5 3fp Iafed 21 (I AHT 100 <)
(6) Question No. 24 to 26 carry 5 marks each. (word limit 100 words)

(1) STl & 1T BT TE 30S B Ahal B YR BT HIaATs ¢ | (1)
(1) Egg white beaten with water forms which type of collide?
(2) TR §S9 &I GET 91y | (1)

(2) Drow the structure of ethoxy benzene
(3) SR {19 & @l & AT TP H 3 TR T 99 gsar & 2 (1)

(3) How will it effect our eyes when it comes in direct contact with
dichloromethane

(4) Yo & Thad B Iy HiF A1 faeif@g SRRl & ? (1)

: (4) Which vitamin is responsible for the congulation of blood ?

(5) Riifeserss &1 [IUPAC = fofRau | (1)

: (5) Write [IUPAC name of Cinnemaldehyde

(6) FfeIRad &1 decl &R & HH H forRay | Nape/ibHis. oo (2)
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Ques. :

Ques.

Ques. :

Ques. :

CHsNH, , (GH;s)sN, CeHsNH, , (C,Hs),NH

: (6) Arrange the following on increasing order of basicity

C2H5NH2 . (C2H5)3N . C6H5NH2 . (C2H5)2NH

(7) o1 BRI € dUHH § gfg | A9 g9 H FH oy B 2 2)

: (7) What is the reason that gases are less soluble in liquid when temperature is
raised ?

(8) FARIT @ QI STl 3Fcll @& A 9 gF foTRay | 2)

.. (8) Write the names and formulas of two oxy acids of chlorene

(9) TH fg<ia BIcl @1 AMfHar & oY AfPdRS B Aadl §IH B a1 W
SRATHAT BT 47 fhd GbR ywIfIe B | 2)
(9) What is the effective on the rate of reaction when the concentration of the

reactants is double for a second order of reaction.

(10) Ufenfd omue Ufels W & il 81 § f ? 2)

: (10) Why Anilinium ion is less stable than Aniline ?

(11) (1) I (@) ushA g™ HySO4 @ 93 H gfg -1 & oy aaead
gfRRerferat &1 fofag | )
(ii) H,SO4& 31 SuarT foiRay |

(11) (1) Write the conditions is required to increase the mass of H,SO, by the
contact process

(i) Write any two uses of H,SO4

(12) ferer fewoft fRifay — (3)

(i) 15 7 998 & TIRSIES B WATRIE

(ii) FeHR & AURHY

(12) Write short notes

(i) stability of hydrides of 15™ group
(i1) Allotropes of sulpher

(13) D-Glucose & pentaacetate ¥ 39 UfcSgEIsS AHE &I AURATT &I HH
AT ? (3)

hitps:/'byjus.com
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Ques. :

Ques. :

Ques.

Ques.

Ques.

Ques. :

(13) How do you explain the absence of aldehyde group in the pent a acetate of
D-Glucose

(14) /=1 98BI & YdhaTdl BT M R F=T ol | (3)

(i) TI 66

(i) S

(14) Write the names and structure of the monomers of the following polymins

(i) Nylon — 66

(ii) Dacron

(15) AZAYT STIHTS BT B fha! T BRI B IaTexvl Afed THsmsv | (3)

: (15) Explain any three types of synthetic detergents with example

(16) EFTHS TAT FRUTHS [dderd arel fderadl # Pig 9 3fax foRaw | (3)

: (16) Write any three differences between positive and negative deviation solution

(17) vgATE & o & fofy dea sugesl Ad &1 AMifhd & 9187 | (3)

: (17) Draw the labeled diagram of electrolytic cell for the extraction of aluminum

(18) 1 yarem # 318 K ®® N,Os & 3meged & [2N,05 — 4NO,+0,]
affhar & sres g Ry v ¥ ()

t/s |0 400 | 800 |1200 |1600 |2000 |2400 |2800 |3200

102 x|[1.63 [136 |1.14 093 [078 [064 [053 |043 ]0.35
[N,Os]
Mol L™

() [N2Os] wd t & wea s Wy |

(ii) rfwfar & foQ ofg SMgdIal &I TUMT BT |

(iii) erfwfepan & forg o1 foem T 7 2

(18) The experimental data for decomposition of N,Os in gas phase at 318 K are

given below.

t/s 0 400 800 1200 1600 2000 2400 2800 3200
102 x| 1.63 1.36 1.14 0.93 0.78 0.64 0.53 0.43 0.35
[N,0s]
Mol L!
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Ques.

Ques.

Ques.

Ques.

(i) Plot [N,Os] against t
(ii) Find the half life period for the reaction

(iii) What is the rate law ?
(19) |G @1 yeTTe foham et 999 & HRoT g1l 2 39 W fewoft #ifsie | (3)

: (19) Cleansing action of soap is due to micelle formations comment.

(20) fIferRaa SuTgwdTS ATl & TUPAC 9™ forRay (3)
(i) [Co (NH;)]Cl;

(i) K,[PdCly]

(iii) [Pt(NH;3)(H,0)Cl;]

: (20) Write the [UPAC names of the following co-ordination compounds.

(i) [Co (NH3)6]Cl3
(i1) K,[PdCl,]
(iii) [Pt(NH3)(H,0)Cl]

(21) fr=forRad arf¥fsharet & THIAROT THR THSISY — (3)

(i) wIsd e sffAfhar
(i) SvsHaR srfafoar

: (21) What Explain the following reaction’s by giving equation

(i) Fridel Craft reaction

(ii) Sandmeyer’s reaction

(22) T HHEFE ARTE aa g CyH 0O PCls & 31f¥fshar &Ry A1l
(A) s=mar g1 KCN & fhar o) & o9 s difte (B) a9mar @ S o
JAUECH PR R Th e el (C) <ar g1 Sffhareii # ugad 8 drell
T e wHeRer B fRay | (3)

: (22) An organic compound whose molecular formula C4H;(O reacts with PCl;s

forms a compound (A) which also reacts with KCN to form another organic
compound (B) that given an organic acid (C) upon hydrolysis. Write all chemical

equation for the reaction involved.
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g3 (23) U et o faemediEl @ te foved four S99 fhea # S99 maadl &t
T @ B WR IR BoAdl IR IURYT 7 IS fhicd fbd UBR Udhd BIRTHT
BT | 99 Uhdh PIRIDbI H Fol febe uRATY] B | RieTeh My H B9 $IF A el
BT fIBrT BT arEd 2| @)

Ques. : (23) A teacher gave a crystal to the students. In that crystal , its components are

present on the corners on the cube and on the faces , what type of unit cell will
this crystal be ? How many atoms will be in that unit cell ? What values does the
teacher want to develop in you ?
AT

et 1 faenfoial o1 ve fheed faur 89 fhved & fagdl Ul 1 sdl 3w
U @ BV R TAT U JqYY] HU D R Rerd € Ig fheed fbd UdR &
Tdh PIRTBIS BT BT | S Ydhdh DIRBI H Fel b URAT] A7 Regsd 39
# B — B A Jeul BT fABN HRAT AR ¥ |

The teacher gave a crystal to the students The 8" part of the component of that
crystal is located at the corner of the cube and one component at the center of
which type of unit cell will this crystal be ? How many atoms will be in that unit

cell 7 What values does the teacher want to develop in you ?
ged ;. (24) 99 Nedfe o BT <wizy o = aifafhar gt 8 — (1+2+1+1=5)
Cr=-0.74V, Cd =-0.40V
2Crt3Cdat— 2Cr¢ (aq) +3Cdy
(1) W?HECGHWW -
(il) oTHS Selggle WR B dTell Affhar forReay |
(iii) ZRUMCHS Soldgls TR B droil ffAfhar forfy |
Ques. : (24) Show the galvanic cell in which the following reaction takes place.
Cr=-0.74V , Cd =-0.40V
2Crt3C dzr q— 2Cr>2t + 3Cd

aq)
(i)  Find the E’.q of cell.

(i1)  Write the reaction occuring on the positive electrode.

hitps:/'byjus.com
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(i11)  Write the reaction occuring on the negative electrode.

arerar
1 Ja &1 298 K R Ak GHIaR0T forlRay —

Mg | Mg%(;r.om )l Cu%o+.0001 vy | Cugs)
Cu=0.34V,6,Mg=-237V

(i) 9 &1 e.m.f. ST BT

(ii) &FTcHS Solagle WR B dTell afffshar forRay |
(iii) UTHD Soldels TR B dTell AfAfhar forfay |

Write the Nernst equation of the following cell at 298 K

Mg | Mg%&om wll Cu%&oom m) | Cug)

Cu=0.34V ,Mg=-237V

(1)  Find the e.m.f of cell

(1))  Write the reaction occurring on the positive electrode

(111)  Write the reaction occurring on the negative electrode

ged : (25) a) FrforRad siffshamatl o qol By — (2+3=5)
(i) 2MnO7, + 5805 + 6H" —
(i) 2CrO,” +2H —

b) =1 &1 BROT faTlRay

() RNi®w @1 Fhav d F81 794 2 |

(ii) erqgelt @& TRATTAIHERT B T I BT B |
() Cr'" @1 semaei e = fiaRay |

Ques. : (25) a) Complete the following equations -

(i) 2MnO7+ 5S0;> + 6H' -
(i) 2CrO,” +2H' >
b) Write the reason for the following

(1) Zn is not considered a transition element.

hitps:/'byjus.com
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(11) The enthalpies of atomization of the transition metals are high.
c) Write the electronic configuration of Ccr’
3T
a) P el 1 ol ARy —
(i) 2MnO7, + 5NO, + 6H" -
(i) CrO;” + 14H' + 6¢ -
b)Y &1 BRYT forRay —
(i) Hg &1 Faeeia o9 g1 2|
(i1) HhHOT TT STTH SIRD BT B B 2 |

c) Co*" &1 soaeifas famma fafay —
a) Complete the following equations -

(i) 2MnO’, + 5NO, +6H" -

(i) CrO;” + 14H' + 6¢ -
b) Write the reason for the following

(i)  Mercury has lower boiling point

(1)  Transition elements act as excellent catalysts

¢) Write the electronic configuration of Co"
ged : (26) a) F=faRaa diffrel & dxEAN foaRay — (2+3=5)
(i) 4 FART U 2 3iF
(11) e 2 39 1 3
b) fFr=ferRaa srfshamsil & IRl &I ST Sy —

) Bry/P

1) CH;COOH —

- LiAlH,

(1) CH;CHO ——

o Zn—Hg

(1) CH3- C -CH; —
I = HCl
O

Ques. : (26) a) Write structures of following compounds -
(i) 4 Chloro Pentan — 2 - one
(i) But—2-—ene—1-al

c) Perdict the products of following reactions

hitps:/'byjus.com
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. Br,/P
(1) CH;COOH —

LiAlH,
1i1) CH;CHO ——

... Zn—-Hg
(i1) CH3 - C -CH; ——

| Cons HCI

O
3rerar

a) ffeRaa Al & ITUPAC 9 foriRay —
(i) CH3 - C -CH, — CH, -CH, —CH, —~CH;

I
0

(i)  CH=CH - CHO

g

b) frfaRea aRads o & ?
(i) vIHlaT 9 3 ESgiadl ged
(il) IISH 3T A m ASSIe T Uehigd

a) Write [IUPAC name of the following compounds
(i) CH3 — C —CH, — CH,; —CH, —CH, —CHj3;

I
0

(i) CH =CH - CHO

0

b) How to make the following conversion
(1) Ethanol to 3 —hydroxy butanal

(i1) Propanone to propene

(111) Benzoic acid to m — nitro benzyl alcohal

0000
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greel geus — I
favg — A T (202)
Subject — Chemistry
|qHY — 3 gUC qulids — 70
Time — 3 hours MM. - 70

foder (1) o wed erfvard 2 |
Instructions : (1) All Questions are compulsory.
(2) U2 . 1 ¥ 5 TP ANTAGITRIT U & | YD W 1 A A& & | U Bl
IR 1 6] [T 1 g9 H SIS |
(2) Question No. (1) to (5) are very short answer type questions. Each question
carries 1 mark. Answer should be given word or 1 sentence.
(3) U2 . 6 W 10 Th AP WX 2 3P Iefed 1 (I AHT 30 1<)
(3) Question No. (6) to (10) carry 2 marks each. (word limit 30 words)
@) 929 P 11 ¥ 22 TP IID U W 3 3(h Iefed 21 (I WA 50 )
(4) Question No. (11) to (22) carry 3marks each. (word limit 50 words)
(5) U2 & 23 WX 4 3fP AMdfed B (Ig HHT 70 )
(5) Question No. 23 carries 4 marks. (word limit 70 words)
(6) U3 & 24 | 26 TP YIS U WX 5 3P Mafed g1 (3 AT 100 1<)
(6) Question No. 24 to 26 carry 5 marks each. (word limit 100 words)

e 1 (1) As,S; Al @ ¥hed | 9 § 4 B 1 gerd 2 | (1)

Ques. : (1) Which of the following is most effective in coagulation of As,S; sol ?

ged @ (2) &Y U Aiffre &1 IUPAC A forfRay | (1)
CH;,

COOH

hitps:/'byjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

(2) Write the IUPAC name of the given compound.

CH;

COOH

(3) FMFAfTRIT BT eI & dgd BY ¥ H FIRT BIIY | (1)
CH;COOH , HCOOH , CICH,COOH , CF;COOH
(3) Arrange the following in increasing order of acidic character.

CH;COOH , HCOOH , CICH,COOH , CF;COOH

(4) SN* sifafran g1 Ufeddl BeTgs & SUANT &xd gY AIgdal efade AgHTd
T AT TFY | (1)
(4) Show how will you synthesize cyclo hexylmethanol using an alkyl halide by

an SN? reaction.

(5) e & HYSI W X< WG Bl BT & , I8 AN (b fIeH= &1 w1 9 Bl
= (1)
(5) Mohan has bleading gums deficiency of which vitamin causes this disease.
(6) TRANTIITAT ®IF & foly A== ASICH R (2) B ATAT & ATAR 68% TSIeh
3P BT STl faerae a9 # SuanT foear | afe e &1 a9 1.504 gmL”' &
ar el & 9 A @1 AleRdT 9T BT ? 2)

(6) Concentrated nitric acid used in laboratory work is 68% nitric acid by mass in
aqueous solution . What should be the molarity of such a sample of the acid if

the density of solution is 1.504 gmL™" ?

hitps:/'byjus.com
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Ques. :

Ques. :

(7) AAS FHIERT R—>P @ fou fafi= Ar=dreil m[R] 9T 97T & 99 IT%
e | <eriar T § - 7))

2 K]

£ L85 =
() sfafspar & eife stra AR |
(i) ap B TTT AT BT |
(7) For a Chemical reaction R—P the wvariation in the concentration , In [R] vs

time (s) plot is given as shown in figure.

1

T
212 TR]

+ (=) >
(i) Predict the order of reaction.
(ii) what is the slop of the curve ?
(8) @ror <foTT — ()
(i) BB B AT H ST 31 &R 7 |
(i) Y& TAroHl B T ¥ R Tro Afde fhariia g 2 |

(8) Give reason -

(i) Ammonia is more basic than phosphine.

(ii) Inter halogens are more reactive than pure halogens.

(o) fFr=faRaa siffehar § A IR B & =T 9d1=d | (2)

KCN  LiAlH,
CH3CHzBT _)A — B
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Ques.

Ques.

Ques.

Ques. :

Ques.

: (9) Give the structures of A and B in the following reactions :

KCN  LiAlH,
CHSCHzBT _>A EE— B

(10) BpHA SHHTZS Sfffdhar &l foRay | (2)

: (10) Write a note on Hoffmann’s bromamide reaction.

(11) I=ee @1 | ARST | TeYl IR S ardl f[daas @ fog emawas
gRRerferr forfRay | (3)

: (11) State Raoult’s law write the conditions necessary for a solution to show

1deal behavior.

(12) e\ dife & sfdfhar & forw 97 Rexie 80s™! 21 arf¥fshar &1 sro=
URM® Aigdl F 1,/18 df 91T I8 S H fdha+r IAg o ? (3)

: (12) The rate constant for a first order reaction is 80s’ How much time will it

take to reduce the initial concentration of the reactant to its 1/18™ value ?

(13) fe=ferRaa uRRerfo=il § @ Yetor gt ? (3)
(i) STa YT R0 YT Dleilss! Aid § 9§ THAT Hxal o |

(ii) SterafsTd BR& sifavarss Afd # NaCl dgd rveed fAarar ST 2 |

(iii) Preiizel A § | fAgd g1 yared &1 Sl 2 |

(13) What do you observed on the following cordition.

(i) When a beam of light is passed through a colloidal sol.
(ii) an electrolyte NaCl is added to hydrated ferric oxide sol.
(iii) electric current is passed through a collided sol ?
(14) 3BT A g1l & FsHYU H§ 77 4 Udh &I qABT B GAsISY | (3)
(i) Mea & fspyor § CO
(i) RieaR @ By § Zn
(iii) ®MMR & ey § Riferar

: (14) Explain the role of each of the following in the extraction of metals from

their ores : -
(i) CO in the extraction of nickel
(ii) Zinc in the extraction of silver
(iii) silica in the extraction of copper.
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g3 . (15) f=faRad & A=A S48y — (3)
(i) XeF, (ii) H,S,0, (iii) CIF;

Ques. : (15) Draw the structures of the following -

(i) XeF, (ii) H,S,0, (iii) CIF;

ge : (16) URI® BT [P IQTERVT od gU rfoiRad H Iu Agwdio 1Dl o7 e
B e e BT | (3)
(i) Sta gonferdf
(i) ofiwer g+

(iii) faweryome® AT
Ques. : (16) Discuss briefly giving example in each case the role of coordination
compounds in :
(i) Biological systems
(ii) Medicinal Chemistry
(iii) Analytical chemistry

ged : (17) 941 aiffsam &1 goi oIy | (3)
(i) (CH;); CBr+ KOHZ™ »
(11) C6H5ON3+C2H5C1—’
(111) CH3CH2CH = CHQ + HBr —

Ques. : (17) complete the following reaction

(i) (CHs); CBr+ KOH M,
(ii) C4HsONa+C,HsCl —»>

(iif) CHyCH,CH = CH, + HBr %
ged : (1) T rffhamatl # Ugad IWdHHB! & A ISy — (3)

(i) wrfe® Vedhied & draiidsield el | JATaRATHROT
(i) Wl BT 2,4,6 SIRAM! BIATe H SHMAA |
(ili) ®[cA —2 — 3 § Jea— 23T |
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Ques. : (18) Name the reagents used in the following reactions -
(i) oxidation of primary alcohol to carboxylic acid
(ii) Bromination of phenol to 2 , 4 , 6 tri bromophenol
(iii) Butan — 2 — one to butan —2 - ol
ge © (19) faeell WREHR o Ul &7 & YA W Ufde" o7 | §hMaR] - o
f=TIpd BTGl | a9 o7 &1 YANT URH {651, Siafdh 8 Bic ghMar difaeia
T BT TIANT B o Ol b gdel 9 T84 o |
(i) &4 diferefl| 1 Ul i exA1 Ay ? o w@fdd diferlld & dqol g
T ST &1 SUANT R & | 9 bl oAl Bl UaRid &R ¢ |
(i) dfferelid 97 gdel iR FTEF 1 9 A € | S96T YaeT 89 HA B |
(iii) dfforl™ &1 Thad 91 2| FT I WH 98D AT 98 98D T | (3)

Ques. : (19) Government banned use of polythen bags in delhi. Shop keepers have started
using bags made up of biodegradable paper. but some small shopkeeper are still
using polythens bags but these are thinner and colourless.

(i) Why should we ban polythene ? what values are possessed by people not
using polythene and use biodegradable materials for bags ?

(ii) Why are polythens bags made thinner and colourless ? How can we manage
them ?

(iii) What is/are monomer(s) polyethen ? is it homo or co — polymer ?

g3 : (20) MRA H SIfIBIY AN AARIGR HIOE Ud I &1 YANT &-d © | N 3
@ TERAT Bl & | A BI IAMABAT IR H Sfel Ud I8 Id~ DT T |
3R I JARTDHAT BT Ul §RT I [hdT ST & |
(i) AfSTH egSIoA Breie 38T Ui 3 -8l § i ?
(i) SIfeT™ BIRQIoH BEHE &I JoIT | giicdd gggaarss Rl ASd Iugad
2| T I8 3D FlIdT & IUAR & forg IuArf 2°
(iii) S ws &I o dTel @RT bl HeAl Bl UaRid aRd 57 (3)

Ques. : (20) In India large number of people take spicy food and chat etc. Which contain

a lot of acid. Excess of acid in the stomach causes invitation and pain. Antacids

are commonly used for neutvalization of excess of acides.
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(i) Why is sodium hydrogen carbonate not good antacid.
(ii) Why are metal hydroxides better than sodium hydrogen carbonate ? Do these
treet the cause of hyperacidity ?
(iii) What are the values possessed by people not taking junk food ?
ged ;. (21) AEfRad § BRI B SITRNTBROT TR a1 8 | (3)
(i) H3PO; (ii) CasP, (iii) NazPOy
Ques. : (21) What are the oxidation state of phosphorus in the following.
(i) H3PO; (ii) CasP, (iii) Na3POy,
U ¢ (22) fdraaTsS AT g # R SR BT B | (3)

Ques. : (22) What is the difference between a nucleoside and a nucleotide ?

ged : (23) faw U gl fhved &1 udieor @ g — (4)
A" B A B
A+
B B ] A+ J
A" B A" B
B A" B A"
fa=forRad gt & SR o —

(1) e @ gRT 69 YBR &7 ARNISHRT Y S9iar § |
(i) 39 T & gRT fhved &1 o9 & gHIfad 8 ?
Gi

iil) foa geR &1 mafd el 9 T BT SR |
(iv) 39 Q¥ @I A dTel e BT Udh SSTExvl STy |
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Ques. : (23) Examine the given defective crystal

A" B A B
A+

B B L A" "

A B A" B

B A" B A"

Answer the following questions

(i) What type of stoichiometric defect is shown by the crystal ?
(ii) How is the density of the crystal affected by this defect ?
(iii) What type of ionic substance show such defect ?

(iv) Give one example of crystal showing this defect ?

SI2EI
ey TTq SIvgul foheee &1 uiEor By —
A" B A" B A"
B A" B A" B
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friferRad geat & S AT —

(i) e @ gRT b9 UBR BT AT QY <oiT & |

(i) 39 T9 & gRT fohved BT &9 & g9Tdd 817 |

(iil) o S BT fod IBR &7 mafad yared 39 QI BT SARAT |
(iv) 9 Q¥ &I S dTel e BT Udh SSTERvl STy |

Examine the given defective crystal

A" B A" B A"

A B’ A" A"

Answer the following questions
(i) What type of stoichiometric defect is shown by the crystal ?
(ii) How 1s the density of the crystal affected by this defect ?
(iii) What type of ionic substance show such defect ?

(iv) Give one example of crystal showing this defect ?

ged : (24) T Sl &I ol BIfsTy — (5)

—— P

(1)C¢HsCHO + CH;CH,CHO NaOH

(i)NaBH4
(ii))H+

oy~ on I% o,
(iv) (=01 2 (- cHo

(ii) CH3COCH-COOC:Hs
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()03 2 0O
S YT <}

Ques. : (24) Complete the following reaction

(i)  C¢H;CHO + CH;CH,CHO NaOH

(i)NaBH4
—
(i))H+

Cro
(iii) () ou % ?

?
(iv) <}— OH, Q CHO
v) g W0 2 <:>: O

" (ii)Zn|H,0

(11) CH3COCH2COOC2H5

3T
e SIfafehar &1 wHemsy —
(i) RogUS uEa
(ii) dfoRT rfafean
(iii) g1 Jatrs Sifeaa! (HVZ) ifafar
(iv) Feim=a+ 3rgerad
(v) gfde erfaferan
Explain the following reactions
(iv) Resenmund reduction
(v)  Cannizzaro’s reaction
(vi) Hell-volhard—Zelinsky reaction
(vil) Clemmensen Reduction
(viii) Parkin reaction
ged @ (25) a) 791 @I gargy (5)
(i) epwor T Nfde der § Aae AfTe aedr ¥ |
(i) HspHUT o1g & 1 Sifaags aRIg 8 © Sidid Sod 3Aadss ISHILH! a1
3l BId € |
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(iii) Cr'" | Cr" @ ot H Mo’ | Mn®" gW & forg B &1 A9 S g
(+1.57V) T |

b) <igFTSS U9 UfdeArss § UHh AT 9T Udh IRTATT fotfRay |
Ques. : (25) a) Account for the following

(1)Transition metals form large number of complex compounds.
(11) The lowest oxide of transition metal is basic where as the highest oxides is
amphotric or acidic.
(iii) E” value for the Mn’" | Mn*" couple is highly positive (+1.57V) as
compave to Cr’" | Cr**
b) Write one similarity and one difference between the chemistry of lanthanoid and
actinoid element
AT

d) (i) P =i Il &1 g H HhHU  deal &1 URad] AR JaeT b YhR
= grit 2 |
(ii) Cu” sk Cu® ama=i 1 19 A1 T el fRAfeRd & oRem & ik &&if ?
(i) Cr,O,° 3m &1 I 7 &R & |y fhar s W diel 91 § uRaffa
B & |
e) arfAfeharal @ qof Hify —
(i) Cr,0;"+Sn”" +H —

(ii) MnOy +Fe*" +H >

(a) (1) How is the variability in oxidation state of transition metals
different from that of the P-block elements ?

(ii) Out of Cu” and Cu*" which on is unstable in aqueous solution
and why.
(i11) Orange colour of Cr,0;” on changes to yellow when treated
with an alkali why ?

(b) Complete the reaction
(i) Cr,0;" + Sn* +H —

(ii) MnO, + Fe*" + H >
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ged : (26) a) Ni (NO3), & Udh e &1 @ifcT golagrs & d4ra 50 UFRR &
YRT Yalfed @xd 8U 30 fiFe d& fag@ eMwed fHar | @ dls W
fher &1 food= AT ST 8RAT 2 ()
(Ni &7 9RHTI] 4R =58.9U )
b) FreferRad # faza sruaed & IdTE 9| Iy —
(i) RieeR setagrs @ AT AgNO; &1 Sield faferaq |
(i) wifeTs geragre @& AT H,SO,4 &1 Steira fafers |
Ques. : (26) a) A solution of Ni (NOj), is electrolysed between platinum

electrodes using a current of 5.0 amperes for 30 minuts. What mass of
Ni 1s deposited at the cathode ? (at wt of Ni = 58.9U)

b) Predict the products of electrolysis in each of the following

(iii) An aqulous solution of AgNQO; with siliver electrodes.

(iv)A dilute solution of H,SO,4 with platinum electrodes.
AT

a) 25°C w fr=ferRad ¥ @1 emf Td S|
Fe | Fe*™ (0.001m) || H+ (0.01m) | Hy (1 bar)
E’ (Fe’|Fe ) =-0.44V
E’ (H'|H, ) = -0.00V
b) fFr=ferRaa smeee & forg fasam ammasr &1 AT sMawgd B8R |
@) Al & 1 A9 & Al ?
(i) 1 At MnOy & Mn>*
c) Calculate emf of the following cell at 25°C
Fe | Fe** (0.001m) || H+ (0.01m) | Hy (1 bar)
E° (Fe’|Fe ) =-0.44V
E° (H'|H, ) = -0.00V

d) How much charge is required for the following reductions ?
(iv) 1 mol of AI’ to Al 2

(v) 1 mol of MnO,” to Mn** ?

0000
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